NCERT Solution for Class 1 Mathematics

Chapter 7
Measurement

Longer - Shorter.

Q1: Tick (v') the Longer.

Answer:

Answer:



Longest - Shortest
Q3: Tick (v') the Longest

Answer



Q4: Tick (v') the Shortest.
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Taller - Shorter.
Q5: Tick (v') the Taller

Answer



Q6: Tick (v) the Shorter.
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Tallest — Shortest.

Q7: Tick (v') the Tallest.

Q8: Tick (v') the Shortest.



Answer

Thicker — Thinner.

Q9: Tick (v) the Thicker.

Answer




Q10: Tick (v') the Thinner.

Answer

Thickest — Thinnest.

Q11: Tick (v) the Thickest.




Q12: Tick (v') the Thinnest.

Heavier — Lighter.

Q13: Tick (v) the lighter.
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Q14: Tick (v) the Heavier.
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Heaviest — Lightest.

Q15: Tick (v') the heaviest.
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Q16: Tick (v) the lightest.

Q17: Tick (') the Heaviest.
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Answer

Measurement.

Q18:
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The book is spans long. The table is spans long.
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The book is 3 |spans long. The table is| § |spans long.

Measure.

My table is, span long. My pencil is | span long.

Answer
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span long.

Q20:

Answer
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My pencil is| 2

span long.
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My classroom blackboard is | 3 | pencils long.




